

GRADE 3 – MODULE 2:  PARENT GUIDE

Place Value and Problem Solving with Units of Measure

Each day in class, we do practice sets. Attached are the answer keys to the Practice Sets from this module.  These answer keys can be used to refresh your child’s memory of work we did together in class and help you support your child with the math homework.  There is a footer at the end of each answer key that tells you the lesson number.  This lesson number corresponds with the lesson number on the homework sheets.  


Module 2 Contents:
	Topic A		Lessons 1 - 5
	Topic B		Lessons 6 -11
	Topic C		Lessons 12 – 14
	Topic D	Lessons 15 – 17
	Topic E		Lessons 18 - 21
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1. Follow the directions to label the number line below.

D E T v w
<<§> % + f i i i S e . 2 + eio>
S 10 15 2 ss
o 0O 25 30 %5 4O 45 50 £ s

<" Ingrid gets ready for school between 7:00am and 8:00am. Label the first and last tick marks as
7:00am and 8:00am.

Vb./ Each interval represents 5 minutes. Count by fives starting at 0, or 7:00am. Label your 0, 5, 10...
below the number line up to 8:00am.

& Ingrid starts getting dressed at 7:10am. Plot a point on the number line to represent this time.
Above the point write “D”.

W Ingrid starts eating breakfast at 7:35am. Plot a point on the number line to represent this time.
Above the point write “E”.

@ Ingrid starts brushing her teeth at 7:40am. Plot a point on the number line to represent this time.
Above the point write “T”.

¥ Ingrid starts packing her lunch at 7:45am. Plot a point on the number line to represent this time.
Above the point write “L”.

g. Ingrid starts waiting for the bus at 7:55am. Plot a point on the number line to represent this time.
Above the point write “W”.
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2. Label every five minutes below the number line shown. Draw a line from the clocks to the points on the
number line showing their time. Not all of the clocks have matching points.

3. Noah uses a number line to locate 5:45pm. Each interval is 5 minutes. The endpoints are Spm and 6pm.

Label the number line below to show his work below.

540
P | | ! | | 1 | | 1 & | 1 i ~
-~ I i I i 1 | 1 I T | ] 1 s
o 5 10 ) 20 925 30 35 4o 4 S 55 ©o
‘5'00fm o Op

4. Tanner tells his little brother that 11:25pm comes after 11:20am. Do you agree with Tanner? Why or why

not? Use a number line to support your answer.

11,25
——t—+— ' > } + t + + + S
5 5 1o 15 20 25 3 3 o 5 » % 6o
H'-DOYW\ \2:000w
¢ becavse pm

1: 200w C,OY\\‘\: bD’\L\ 30 on "'L\C \ \our v\\)VV\b‘Cr lin

11225pm and | N A
; L1 200m s Best Wecasse s morning. L agree with Tavner

V5 h13\+ and am 1S Moraing
7 COMMON | tessons#: Lesson Name EXACTLY G3-M2-TA-L2
0 ESRE N o engage™’ xxs

© 2012 Common Core, Inc. All rights reserved. commoncore.org





image5.jpeg
NYS COMMON CORE MATHEMATICS CURRICULUM

Name 6‘ NA Date

1. Plot a point on the number line for the times shown on the clocks below. Then draw a line to match the

clocks to the points.

3. Mrs. Barnes starts teaching math at
8:23 a.m. Draw hands on the clock below
to show what time Mrs. Barnes starts
teaching math.

2. Jessie woke up this morning at 6:48 a.m.
Draw hands on the clock below to show
what time Jessie woke up.

COMMON Lesson #: Lesson Name EXACTLY Lesson Component Template n
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4. The clock shows what time Rebecca finishes her homework. What time does Rebecca finish her
homework?

Rebecca finishes her homework at g i ! a l PM/\

5. The clock below shows what time Mason’s mom drops him off for practice.

a. What time does Mason’s mom drop him off?

Mason's mom drops him
of¢ at 61%’9@%,

b. Mason’s coach arrived 11 minutes before Mason. What time did Mason’s coach arrive?

N\GS(DWs coach Qryives af 5:45Pm.

{ CORE Date: 4/18/13 engage ny XX.2
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Directions: Use a number line to answer problems 1 through 5.

1. Cole starts reading at 6:23pm. He stops at 6:49pm. How many minutes does Cole read?

Cole reads for 8 Q minutes.

2. Natalie finishes piano practice at 2:45pm after practicing for 37 minutes. What time does Natalie’s
practice start?

Natalie’s practice starts at Q : Q spm.

3. Genevieve works on her scrapbook from 11:27am to 11:58am. How many minutes does she work on her
scrapbook?

Genevieve works on her scrapbook for ‘ S ‘ minutes.

4. Nate finishes his homework at 4:47pm after working on it for 38 minutes. What time does Nate start his
homework?

r
Nate starts his homework at i’ 0 i pm.

5. Andrea goes fishing at 9:03am. She fishes for 49 minutes. What time is Andrea done fishing?

Andrea is done fishing at 'i : !i;z am.

COMMON | Lesson#: Lesson Name EXACTLY G3-M2-TA-L4-worksheet.docx
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6. Dion walks to school. The clocks below show when he leaves his house and when he arrives at school.
How many minutes does it take Dion to walk to school?

Dion leaves his house: Dion arrives at school:

T+ fakes

Dion 19
Winutes o
walk o

qé’?qm T:5(, ‘an Shool.

7. Sydney cleans her room for 45 minutes. She starts at 11:13am. What time does Sydney finish cleaning her

JODam NN /\/WYYM 1200 pan

\ 1 | ' | I {s g
U

{ | | LI

, B 1 1
O5 10 15 P 35 3 364 U5 50 55 ¢

deﬁ{% ﬁ'n/@/aﬁs at 11:58am.

8. The third grade chorus performs a musical for the school. The musical lasts 42 minutes. It ends at 1:59pm.

What time does the musical start?

! o - 00

! !

O 0 70 30 40 50 4y
the musical  starts at 1:/7pm.
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1. Cole read his book for 25 minutes yesterday and for 28 minutes today. How many minutes did Cole read
altogether? Model the problem on the number line and write an equation to solve.

26" minvks 28 minuvies

| ! i 1 | | | | | ! | | S
I I I I I T I I -
0 10 20 30 40 50 60

0’25 ‘1’018 = 63 minv k& Cole read for E 5 minutes.

A

2. Tessa spends 34 minutes washing her dog. It takes her 12 minutes to shampoo and rinse, and the rest of
the time to get the dog in the bathtub! How many minutes does Tessa spend getting her dog in the
bathtub? Draw a number line to model the problem and write an equation to solve.

34 minutes 52_‘ 12 = 22
7 minvieS

{ - .

O o) 20 3o 40

3. Tessa walks her dog for 47 minutes. Jeremiah walks his dog for 30 minutes. How many more minutes
does Tessa walk her dog than Jeremiah?

T;e_s/tq’? minuits L’7“5D = '7
Mminvks

Jm = 30 minyies

\

0 ) Zo 3 Yo SO

4a. It takes Austin 4 minutes to take out the garbage, 12 minutes to wash the dishes, and 13 minutes to mop
the kitchen floor. How long does it take Austin to do his chores?

— X9 minuies - LI*‘Z. = 1o minu kS
m‘m-‘ 1Z min. 13 min.

Ip¥!3 =29 minuks
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4b. Austin’s bus arrives at 7:55am. If he starts his chores at 7:30am, will he be done in time to meet his bus?

Explain your reasoning. 29 minv les
155
J 1 N \ A 1 ¥ 1) + } 3 ‘- — d v
S v ?.30 &'OO
F:00 '

No, Aushin will be late. I+ bakes
Lour minuies mere Haon he has time for.

5. Gilberto’s cat sleeps in the sun for 23 minutes. It wakes up at the time shown on the clock below. What
time did the cat go to sleep?

1 COMMON | tesson#: G3-M2-TA-L5-worksheet.docx
I 'l CORE Date: 417/13 eng' ag eny X.X.2
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a) Illustrate and describe the process of making a 1 kilogram weight.

T put a H@hcy

of beans on one oide
W Bag of, 0{: n pan l()de"MCé ﬂ'f’” L
oy\ Hhe omﬂ pan W\M

the  pans loalanccd

b} llustrate and describe the process of partitioning 1 kilogram into 100 grams.

drew a +en Prame on the
/ 06o] o9 | F F

Date

| £ boq OF vite. Each part
09| 1999 o{l tnhe hen frame s about
H“j rrlOoj LOO 3 There ave 10 hundreds

100g IOOJ Wimfh s /00::3 7 also
\Wi&’g 100 g umm( 10O ﬂ [ rice from

c) Ilustrate and describe the process of partitioning 100 gram!mto 10 grams.

TTETe T erased one o Yae 1009
[y abtls gnd  dtw a NEW TXH

| frame, Each /oar% of Yhe HA

( here die
v | 1009\ 1009 frame e dbuut 7
9 5 IO +ens, wlum mj N)z(';éj T

\ ( 10
\%%gg % dleo w@%%f‘ 10 ¢ J of rice -f:ﬁ)«vx

1 100] 40 Gl

I g } COMMON i Lesson6: Build and decompose a kilograrr?o reason about the size and weight

i CORE | of 1 Kilogram, 100 grams, 10 grams, and 1 gram. engage 2.B.6
Date:

5/10/13
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D. |lllustrate and describe the process of partitioning 10 grams into 1 gram.

i 10
mav‘-‘ ‘..,l.QL )q. 1 T evased onhe of +he j
iUOg . \abels and dvew o NEWw

ﬁ L 4in {‘ vame . ®ach pa It 0{
W4 Tooa | “oog the fen Lrame is  about
o0al 10D 9. L ﬂ There are [0 ones, which

E. Compare the two place value charts below. How does today’s exploration on weight with kilograms and

grams relate to your understanding of place value?

1 kilogram 100 grams 10 grams 1gram

Thousands Hundreds Tens Ones

7 (/a\ s exploration with weaght veldates teo place

‘ he <ame
Value  because $he tens the <

ace 1S
as 0 ones, the lyund recls

lgee 15 FHae 2ame
thousands place is  the

e (0 +ens and  Hhe o Foda
" 10 hundreds. TM Mjhf " M?ﬂlmms /

Same AT / "
WO%’K&{ “}’)Vl‘e sqmé Wﬂ}/ Oﬁmnu is 1’;00 s m

m ;
00 grams (s trA 10 grams and lKj % |, J

ten 100 orams.
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Name Gl'ﬂa

Work with a partner. Use the corresponding weights to estimate the weight of objects in the classroom. Then

check your estimate by weighing on a scale.

Date

Objects that Weigh About 1 kilogram

Actual Weight

o dichonary

my  Shee

i, Q’ifog
920 %

dhe  globe
J

L1807
/ S

Objects that Weigh About 100 grams

Actual Weight

w\\r apble

904

o' calculator

905

W\\l‘ note ook

120 4
J

Objects that Weigh About 10 grams

Actual Weight

o blue mH%m block

0L dm erase mapker

Y oracelet

Objects that Weigh About 1 gram

O b«?hm/

my \oem, |

' ]
on mo(ﬂ( cam(

I COMMON Lesson #:
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. Circe the correct unit o weightfo each estimation.
1. Aboxof cresl weighs about 350 G Kiograms)
2. Awatermelon welghs about 3 (rams (RS
5. A posteard welghs about SRR kiograms),
4. Acatweighs about 4 grams
5. A bicycle weighs about 15 (grams (ogramy
6. Alemon wigh about 53 T Klogramsl

. Duringthe xploraion,Derric fins that his botte of wter weighs th same a5 1 Klogram bag ofrce
He then exca, "Our clos [3ptop welghs the same a 2 botes ofwaterl®How much does th laptop.
weigh i klograms? Explain your reasaring )

The laptop weighs 2 kg because the lapfn; ic the same.
as 2 bolles of water. If | boie of water equals
| kq, and 2x kg = 2k3, ther 2 botes of water

wel 3h Lk\z}

o

Nessatell her brather that 1 Kilogram of rice weighs the same as 10 bags containing 100 grams of beans.
each. Doyouagree with her? Explain why or why not.

Yes, because 100grams x 10 = 1000grams and
1000 grams is the same as | kilogram.

T e o mce engage™

J7 SQUIMON | tmans s sy s st
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Name @ WO\ Date

1. Tim goes to the market to buy fruits and vegetables. He weighs some string beans and some grapes.

List the weights for both the string beans and grapes.

The string beans weigh ‘(Q"‘ grams.

The grapes weigh 355 grams.

2. Use tape diagrams to model the following problems. Keiko and her brother Jiro get weighed at the
doctor’s office. Keiko weighs 35 kilograms and lJiro weighs 43 kilograms.

a. What is Keiko and Jiro's total weight?

351473 k@i Ko O(Ad Jive's "'b’{'A'

( 35K | Y2Kg 35 13=2% weight 1s 18kq.

(S —— 3¢ +40-1¢
el Keiko and liro weigh (g kilograms.

b. How much heavier is Jiro than Keiko?

E:‘ 43-35 Jico is g heavfer
HS\? 43z -30-13 Hhan keilke.

0
i \3-5 :& Jiro is __&_ kilograms heavier than Keiko.
=

?

COMMON | Lesson#: Lesson Name EXACTLY Lesson Component Template

I - CORE | Date: 6/27/13 engageny X.X.1
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3. Jared estimates that his houseplant is as heavy as a 5 kilogram bowling ball. Draw a tape diagram to
estimate the weight of 3 houseplants.

/ﬂj] sk ;ﬂﬁ The reig bt djc

é ;"\:.Hr"sﬁ flrua 11
W

7 ¢ @Lou} By lij

/@,«é [5 j

—

4. lane and her 8 friends go apple picking. They share what they pick equally. The total weight of the
apples they pick is shown to the right.

a. About how many kilograms of apples will Jane take
home?

i

jgk‘\iﬁ%i, 5%5;,4_1 S*zsf E%Eﬁb’;(iﬂ;

271 /ij 9 3leq [eg8l
Tmz we wl—aw: w.-w»} 3¢r o{ & 3 }ws;né?

b. Jane estimates that a pumpkin weighs about as much as herghare of the a pies About how much do
7 pumpkins weigh altogether?

7 Pw‘h‘, /41’:1; L.;Llj )‘

hout 21k
a‘%{’bﬂ @Thﬁﬂ;

B COMMON Lesson #8: Solve one-step word problems involving metric weights within 100 1
““ CORE and estimate to reason about solutions.G3-M2-TB-L8 engage y 2.B.7
Date: 5/21/13

© 2012 Common Care, Inc. Al rights reserved. commoncore.org
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name _Gina b Date

part1

3} Estimate whether each container holds less than, more than, or the same as 1 fter.

Coriner ol (G grontrthon b somess e

Container 2 hods (G thanY grester than @ Titer
%

Comaner 3htts s tan (G Ry TRy 1t

Container s holds less than (Grter ) thesames L ter

b} After measuring, what surprised you? Why? J Sk
Container Z and Container 3 surprised me.. T thoug|
i a:lol hold more Water Since. the contminers were <0
Jall. Now I keow I cant judqe the capacity of @
Contoiner just by locking ot il

acuat: |ess

acuat less

Actial: gam e

Actwal tjrea{-ef

part2

) ustrate and describe theprocess o patitining 1 ter of waterinto 10 ups,
We partitioned L liter of water ook sl Goonl tooml GopmL
intp 10 parts by pourin loomL.
of watker into each cup. Eeﬂd Llalalalale
we skip-counted by toomL an =

eadh cup i glela l a(g
fund that |,000mL k equal 4o 2-liter Lol oA DL
1,000mL =16 = 1pom L ar

T e N - engage™ xxe




image18.jpeg
NYS COMMON CORE MATHEMATICS CURRICULUM

4 ustste and cescriethe process of parttoning Cup K o 10 malr units
We partitioned 100mL of water i tonl_20ml30nL 4ol Somt
info 10 parts by pouning 10mL 8
of water into each m,?_ Thep We N
Skip-tounted each cup by 1omL and
found that 10 grups of torL is 100mL. Le o el

) Wstateand dscrv the process of partoing Cup LI 10SmIRE S, |00t = [ 0 ol
We partitioned 10mL of wader into 10 parks
by, usin a dropper 4o put 4wl of water
itto w;\ cup. We found Hhat 10grups of K‘Liml_
4wl is tomb. So it would dake hooo
droppers full 4o il 2 liter!

) Whats the same about breaking 1 it into mlters and breaking 1 Kiogram nto grams?
I+ works -he same way! (OmL is den ImL, looml is
+en 1omL and 1 liter ie¥oogml. Both kilograms and
grans and lirers and milfliters g by “en'!

&) One iter of water weighs 1 Kiagram. How mich does 1 millter o water weigh? Expai how you know.
Since breaking 4 liker into milliliters is the same as
breaking 4 iluﬂnm into Sn’ms/ we know that
4wl weijhg :Lﬁrm!

J17 EQUMON |t e escrscasamisses engage™ xx
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Name, (O\(\a Date

1. Label the vertical number line on the container to the right.
Answer the questions below.

a. What did you label at the halfway mark? Why?
500 mL . T did +hat becavse T krow €
made 10 marks ond (027:-5.S50 at the
5%\ mavlk WS \r\a\'CwA\/- You coold also
S\'—\P-Louv\‘\' the marks ond Se+
500 mL.
b. Explain how pouring each cup of water helped you
create a vertical number line.
We vade sure 4o povr \0OmL of  water
beAncen each Fck mark. Sinee every fme
W was +he same entount of woter —the
Spaces wece pretty even for fhe

number line.

— [0oOmL
— 400 mL
— goomL
— T100wmL
— cOOmL
— SOOmL
— 4oomL
L 200mL

— ZoomL

c. If you pour out 300 mL of water, how many mL are left
in the container?

1000 m L -300mL = 7100w L

2. How much liquid is in each container?

3 liters L \iters Jd lidecs

— 100 mL

O \ers
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3. Estimate the amount of liquid in each container to the nearest milliliter.

1000mL —— 1000mL ——
900ML
800mL —

700mML — 0o

1000mL —0o
900mL ——
800ML 00—
700ML e
600mL ——
500mL ——

400mML —nu
300mML ——

Lesson 10 Problem Set

~1000mL —0

1ooOmL
4. The chart below shows the capacity of 4 barrels.
100L L
Barrel A 75 liters ?)ay(e‘ C L
Barrel B 68 liters
Barrel C 96 liters 0l
Barrel D 52 liters 2410 ‘HD'{’QJ
80L
a. Label the number line to show the capacity of each 20 13
barrel. Barrel A has been done for you. =2%
Barrel A L
b. Which barrel has the greatest capacity? 70L
Bovrel C Barel¥, e
AV Y .
¢.  Which barrel has the smallest capacity?
Bavvel D. aol
d. Ben buys a barrel that holds about 70 liters. Which barrel did 521
i i \D/
he most likely buy? Explain why. . ( P %0((?/
He wight buy bavel B becawe s closest
+o ToL . Tt won't ecactly hold TTOL,Lutits S0
c losest.
e. Use the number line to find how many more liters
Barrel C can hold than Barrel B. 0L

Q(, -B- I+ can held 28L
moVe.
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Name _(in@ oate

1. Thetotalwelght I gramsof a ca of matoes and s jr ofbabyfoa s shawn at
.
o Thejrof by oo wighs 43 grams. Howmich does e canofmtos
et 651 The can of Homatoes
Wl T ] 5 weighe 558grams.
ey Teg
b, Howmuch more docs the canoftoates wefgh thn the a ofbaby foad?
559  The tan of tomatoes
2103 weighs tH5grams more

uenk 7 THS  thon +he jor of baby food.
2. The welght of a penin grams s show atright.

a. Whatis the total weight of 10 pens? =

Gg x10=60g i is Co
The +ofal weight jOpens grams, TR

b Mmoo 2 s et vt otz e 0t | B2
?

? 82+60= 142
The +otal weight of o box of

10 pens (s 142 grams.

3. The total welght of an apple, lemon and banana in grams is shown at rght,
3. Ifthe apple and lemon together weigh 317 grams, what s the weight of the.

banans? = 0% #1%  the banana
17 Weighs (8l grams,
K1)

b, if we know the lemon weighs 68 grams less than the banana, how much does
the lemon weigh?

L]}
= Lg
<. Whatls the weight of the apple?

123
\
lisllrﬁ Rh The apple weighs
19 19# grams |

gn
198 The lemon weighs
T 68 123grams.

I €8 | rssnsRsSS engage™  es
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4. Afrozen turkey weighs about 5 kilograms. The chef orders 45 kilograms of turkey. Use a tape diagram to
find about how many frozen turkeys he orders.

Mww:) =5k9

45+ 59

t’kﬁ ' | The chef ovcbur{d
L_,/——\ﬁ——‘/ q ,h},,ke\is.

PHurkeys
Hs Kilograms

5. Arecipe requires 300 milliliters of milk. Sara decides to triple the recipe for dinner. How many milliliters
of milk does she need to cook dinner?

200mL +300mL + 300 L =900ml

EOOW‘L 200m L SOOM—Ll Sava needs 400mL ot milk.
\_/w\/

?

6. Marian pours a full container of water equally into buckets. Each bucket has a capacity of 4 liters. After
filling 3 buckets, she still has 2 liters left in her container. What is the capacity of her container?

L x3=12L

AR - -
T \2L 2L =YL
Contaner. MO\YiOi’\'S Coh-l'ainer %Olo\&- 4 L.
I[_)eas::n #: ;(;;i(;r;;\lame EXACTLY Lesson Component Template engage ny . XXI

© 2012 Common Core, Inc. All rights reserved. commoncore.org




image23.jpeg
NYS COMMON CORE MATHEMATICS CURRICULUM

Name 6‘“0

Date

1. Work with a partner. Use a ruler and/or a meter stick to complete the chart below.

Object Measurement The object measures between Length rounded to
(in cm) (which two tens) the nearest ten cm
Example: My shoe 23cm 20 and 30 cm 20cm
Long side of a desk Glem 60  and BT0 cm boCm
A new pencil le] cm 10 and__ 20 m 20 cm
Short side of a piece of paper 27 cm 20 ad 30 m 20cm
Long side of a piece of paper 28 oM 20 and 20  m 30()’\/\
2. Work with a partner. Use a digital scale to complete the chart below.
Measurement The bag of rice measures between | Weight rounded to
Bag (ing) (which two tens) the nearest ten g
Example: Bag A 8g 0 _and 10 g 10g
Bag8 359 30 and_ 1O g Log
Bag C 82 9 80  and_90 [ qu
BagD Q20 and 30
2%g g 8069
BagE 50 and_0O

51y

503

3. Work with a partner. Use a beaker to complete the chart below.
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Container Measurement The container measures between Liquid volume
(inmL) (which two tens) rounded to the
nearest ten mL
Example: Container A 33mL 30 and 40 mL 30mL
Container B 0
b ImL (0O _and_T mL 10 mbL
Container C
17 L (O and_20 mL , o) ML
Container D 0
U5 mlL HO and_5 mL 50m L
Container E Cfo and 100 mL

I4mL

90 mL

4. Work with a partner. Use a clock to complete the chart below.

Activity Actual time The activity measures between Time rounded to
(which two tens) the nearest ten
minutes
Example: Time we started math 10:03 10:00 _and ___10:10 10:00
Time | started the Application i [0:320 and_10:40
Problems ‘043", [0:30
Time | finished station 1 < : 7 .
10 2t [0:40 and_(0:50 | jp:440
Time | finished station 2 10: 4% 1040  and 1050 10°50
Time | finished station 3 10:5b 1050 and [1:00 (1" 00
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1. Round to the nearest ten. Use the number line to model your thinking.

a 32=_30 b 36=_40
40 4 q0
+ 30
35 -+ 35
32
30 v 30
¢ 2=_pl d 162=_|p[)
10 {70
65 165
[y 162.
40 160
e 278= ';%Q t. a0s~_410 A
280 s
27¢
275 405
210 ¥ 00

I COMMON Lesson #:
CO RE Date:

© 2012 Common Core, Inc. Al rights reserved. commoncore.org.

Lesson Name EXACTLY G3-M2-TC-L13-Worksheet-1.docx
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2. Round the weight of each item to the nearest ten grams. Draw numbers lines to model your thinking.

Number line

Round to the nearest ten grams

36 grams

Yo

3¢
35

30

3é3 = 403

l‘ 52 grams

‘[GO
55

%‘?‘

142 grams

|~
50
50

45

Jwo

3. Carl's basketball game begins at 3:03pm and ends at 3:51pm.
How many minutes in total is Carl’s basketball game?

a.

N
<~ t\(g

Q;HO

"™

© 2012 Common Core, inc. All rights reserved. commoncore.org
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b. Round the total number of minutes to the nearest ten minutes. C[Jl/ls }7(}3\(6}’%’({ H 3(’[ me \S
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2. Round the weight of each item to the nearest ten grams. Draw numbers lines to model your thinking.
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Name

1. Round to the nearest hundred. Use the number line to model your thinking.

Gina

Date

a. 143~_ 100 « b. 286=_300
-t 200 == 2300
236
=1 150 =-1= 750
1434
-T- 100 -1 200
v
¢ 320=_200 d. 1320=_ 1300
A A
== 400 T H‘OO
1350 -+1350
320t 1320 i
. -+=1300
v 200 v
e. 1572=_1000 f. 1250=_1200 A
—1=1600 -1 1200
52 ¢
—+=1550 - 250
—1=1500 -+ 200
v v
COMMON | Lesson #: Lesson Name EXACTLY Lesson Component Template n
ORE f Date: 6/12/13 engage y XX1
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a. Shauna has 480 stickers. Round the number of stickers to the

nearest hundred. 480=500

b. There are 525 pages in a book. Round the number of pages to

the nearest hundred. 525 =500

c. A container holds 750 mL of water. Round the capacity to the

nearest 100 mL. 750mL = 800mL

d. Glen spends $1297 on a new computer. Round the amount
Glen spends to the nearest $100. $I1Q7 = Jt 1300

e. The drive between two cities is 1842 km. Round the distance to
the nearest 100 km. 1842 Km = |300km

3. Circle the numbers that round to 600 when rounding to the nearest 100.

527 681 713

4. The teacher asks students to round 865 to the nearest ten. Christian says that it is eight hundred seventy.
Alexis disagrees and says it is 87 tens. Who is correct? Explain your thinking.

T)'\ekl ave both Correct because

N
T-2170=814ens :
I %10 in unit form 1s 87tens.

810=87+€ns.
1805 = 3btens Sones 810 has 80 tens + 74ens, 871 tens.
L 800 = 8btens
;e:ls:n # :;iszo/r;rame EXACTLY Lesson Component Template . engageny XX2
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name __(51N0 Date
1. Find the sums below.
a. 46mL + SmlL b. 46mL +25mL c. 46mlL + 125mL
SimL SimL + 2omlL = Tl +l00mL=
i = NImL

f. 597cm + 30cm -

d. 59¢m + 30cm e. 509cm + 83cm
acm +271em =
20 cem Bloem +32em = ko
¢ 502 cm b27lcm
g 39g + 63g h. 345g + 294¢g i. 480g + 476¢g
430
g +62g = 3459 q
+ 476
b 3‘3_9 9 '5(03
j. 1L 245mL + 2L 412mL= k. 2kg 509g + 3kg 367g=
AL 651mlL 5K_¢j 6[05 +5(°(Dﬂ:87bj
5kg £70g
I w: 88’I¥‘EMON I'.)eastsec:n#: ;iisz(;r;:lameEXACTLY Lesson Component Template engageny ?(x]_
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2. Nadine and Jen buy a small bag of popcorn and a pretzel at
the movie theater. The pretzel weighs 63 grams more than
the popcorn. What is the weight of the pretzel?

? grams 3
L} L"' 44 grams

+ 63 The Pve"’zel W&j"\$

lo7 07 grams.

3. In math class, Jason and Andrea find the total liquid volume

i . . Student k

of water in their beakers. Jason says the total is 782mL, but L

Andrea says it is 792mL. The amount of water in each Jason

beaker can be found in the table to the right. Show whose

calculation is correct. Explain the mistake of the other Andrea 317mL

student.

475 mL Andrea is correct. Jason {orgot o rename

+317 mL Some ones as tens . Or else he JUS+‘F°V3°+

32 mL 4o add +he ten he renamed to the —7 +eng
7 m and | fen Fhot were a\vre_acl\/ there.

4. It takes Greg 15 minutes to mow the front lawn. It takes him 17 more minutes to mow the back lawn
than the front lawn. What is the total amount of time Greg spends mowing the lawns?

15 min + 7 min =32 min

22 +15 =47 minutes breg cpevds 41 minutes
\W yy\oww\g lawns -

=7
4o
| Lesson #: Lesson Name EXACTLY Lesson Component Template ny
Date: 6/24/13 engage XX.1
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Name GIV\DL e
50mL + L 350ue + TOwL 350wt +470mL
130w H430me BL0 mL
50 + 100cm  500¢m + 100cim 500 cun + 400 cim
150 cm 600 cm 900 cm

s 6975 +1388 h 3u5g + 5975 485g + 197g

‘1003 t 1359 3‘/% + (oOOj L %5& *50{7
%5‘53 942 j 5]855

o 3L2SimLe1Lse9mL K akg 3805 + 2g 467g

3L 290mL + (L B5OmL Y kj 384
2L 200mL + L 50 mL v 2k 967

ML 00 mL (”j P
me = engage"y xa
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2. Lane makes sauerkraut. He weighs the amounts of cabbage
and salt he uses. Draw and label a tape diagram to find the
total weight of the cabbage and salt Lane uses.

[388 g07¢ [388 o3¢

[if QUB NE
%—'ﬂ + 6133 = loooﬁ
?

The 4otal ng"\{’ (59 lOOOg,

3. Sue bakes mini muffins for the school bake sale. After wrapping 86 muffins, she still has 58 muffins left
cooling on the table. How many muffins did she bake altogether?

Bo mukins She baked 114 mutfins.

+ 58 muffins
s

|4t

4. The milk carton to the right holds 183 milliliters more liquid
than the juice box. What is the total capacity of the juice
box and milk carton?

1 Juice B
CIes RO Milk Carton

279 mL 2mL
279 mL :
HoZ mbL

v 183 mL + 279mL

—— : —_——t

462 mLo%mJK 741 mL

The. Jotal Capau-h/ is 741 mlL.

l Eg%MON ;s:::n #: ;sls:/r;;\lame EXACTLY Lesson Component Template engage ny WXXZ

© 2012 Common Core, Inc. All rights reserved. commoncore.org
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2. Lane makes sauerkraut. He weighs the amounts of cabbage
and salt he uses. Draw and label a tape diagram to find the
total weight of the cabbage and salt Lane uses.

[388 g07¢ [388 o3¢

[if QUB NE
%—'ﬂ + 6133 = loooﬁ
?

The 4otal ng"\{’ (59 lOOOg,

3. Sue bakes mini muffins for the school bake sale. After wrapping 86 muffins, she still has 58 muffins left
cooling on the table. How many muffins did she bake altogether?

Bo mukins She baked 114 mutfins.

+ 58 muffins
s

|4t

4. The milk carton to the right holds 183 milliliters more liquid
than the juice box. What is the total capacity of the juice
box and milk carton?

1 Juice B
CIes RO Milk Carton

279 mL 2mL
279 mL :
HoZ mbL

v 183 mL + 279mL

—— : —_——t

462 mLo%mJK 741 mL

The. Jotal Capau-h/ is 741 mlL.
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L. 2. find the actual sum either on paper or using mental math. Round each addend to the nearest
hundred and find the estimated sums.

A s g
51 + 253 - _J01 52 +158 = Blo
500 + 300- 800 100+ 20 - 900
451 + 249 = 100 356 + 148 = 504 647 +158 = 805
i e e s
347 +129 = 496 647 + 246 = T
Z00 4 100 - 00 600 + 100 - Too
Cicle the estimated sum that Circle the estimated som that Cice the estimated sum that
isthe closest o s real sum. isthe closest to it eal sum. s the closest o s real sum.

b.. Lok at the sums that gave the most precise estimates. Explain below what they have in common.
You might use a number line o support your explanation.

Al of +he numbers we adjed were really close +he hatfuay
point. In +the sums that gave +he most precise egtimates,

one number always rounded up and one number always
tounded down. So, they balanced each other out and
ave the most precise eglimate

For example Tn part A, 4514249 = Joo

451 % 500 249 % 200 .
ronke 500 oo T gave the exact
U, e ancier !
unded (T51%
oo 4 Ylzoo

T1 % SQUMON | twsont e s s ot

engage™ s
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2. Janet watches a movie that is 94 minutes long on Friday night. She watches a movie that is 151 minutes
long on Saturday night.

a. Decide how to round the minutes. Then estimate the total minutes Janet watched movies on Friday

and Saturday. 150min + 90 min = 240 minufes
1512 150 T gecided Ho round fp the nearest 10 minutes and

=90 fourd Tonet wakched about 240 minvtes in total.

b. How much time does Janet actually spend watching movies?

151 min & Al win = 24S min.

Janet am‘\m\\y e?ads 245 minutfes waJrcL\inj movies.

c. Explain whether your estimated sum is close to the actual sum. Round in a different way and see
which estimate is closer.

151%200 Vs +he echmoted sum is dose 4o the real sum. Qoundff\g to +he
M0 hearest ten minutes was only 5 minutes away from the real Sum -

But when T round 4o the nearest 100 the eshmate is Not as close to
—~+he actual Svm,

3. Sadie, the bear at the zoo, weighs 182 kilograms. Her cub weighs 74 kilograms.

a. Estimate the total weight of Sadie and her cub using whatever method you think best.

182 >Ig0 \80+10 =250
IO e dotal wight of Sodie and her cobis about
250 klegrams

b. What is the actual weight of Sadie and her cub? Model the problem with a tape diagram.

132 D‘B'?. ¥ \ograns \ 4 EgA

+ Y
—_— k/W\/—/

256

7K9 The achual wein' of Sudie
- and her b (s 250 kﬂosrams,

Lesson #: Lesson Name EXACTLY Lesson Component Template

= s engage™’
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1. Solve the subtraction problems below.

60mlL L
/N
30 (A

30+6=36ml

as b

d-. 518cm-21cm

41
5+¢em

RAlem

497 em

-—

307g-130¢g
210

S§&f]5

-lBOg
1173

g.

. 2km 770m- 1km 455m

NS
Tkm 739

-
=4

55m
lkm 315m
- COMMON | Lesson18:

Gk
Date:

© 2012 Common Core, Inc. Allrights reserved. commoncore.org

6/12/13

. 3s60mLf24)tL
/
3%0 (30 ®

3304(=236ml

629cm-268cm
512

519cem
-208cm
36 lem

e.

h. 307g-234g¢g

e
55

0733

k.

Decompose once to subtract measurements including 3-digit minuend:
with zeroes in the tens or ones place.

360mL-224mlL

5)
36 GQnL

“22Y4,L
13 Gml

c.

f. 938cm-440cm

® 13
Y98cm
-4 40 un

498cm

i 807%—732g
o
3&79
“132Z9
75 j

3kg 924g- 1kg 893 g

engage™’
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2. The total weight of 3 books is shown to the right. if 2 books
weigh 233 grams, how much does the third book Emmmso Use
a tape diagram to model the problem.

\/W\\DMU\}.!/ v\m\
” \ 1NWWU

! 1 HJNb

Sy g Thedhdbek

' imdrm m\m@.

3. The chart to the right shows the lengths of 3 movies.

a. The movie Champions is 22 minutes shorter than The Lost The Lost Ship 117 minutes
Ship. How long is Champions?
\M\\ﬂ T ot Bcur. ¢ Magical Forests | 145 minutes

b M\ _‘W Tvmﬁ _\rWﬂn‘ ¢
e, Champions ? minutes

O mﬂ W?{_)STW

mﬁﬁ??%«w (s Qw\s..::,).rm d.

b. How much uosmmq is Magical Forests than Champions?

~ 1 .
A\xqw}_‘?}km Z/\w:b Tww%w_w LS

c.fm, tng 8
- w\ ?:?\L‘m ~min Q
M. D ss_fgrww lg)m,\j F\MT&L‘T@:’) <

4. The total length of a rope is 208 cm. Scott cuts it into 3 pieces. The first piece is 80 cm long. The second
piece is 94 cm long. How long is the third piece of rope?

[ 2N \D
Ot qYem AT

[ %0em | 19em L + §0cm 17 em

T MM 034 e

\N
\2)# /@/?b %o_rmz .0+
ropQ s 3 em ?Q .
— mmv\—mgoz Lesson mom_mMM_wM goes here in sentence case with a period at the end of the muu._@.m.@.m —.—<

Date: 5/29/13

® 2012 Common Core, Inc. All rights reserved. commoncare.org
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name _Ging, oate
1. Slv thesbtractonproblems e
a. 340cm-60cm b 340cm-260cm
y
i $%0cm
_SZ%?“ ~260cm
730em 080cm
¢ si3g-iasg
i s g i
k) —5313
2653 =0y
it
" 700mL-52mL 700mL-452mL
G
$88.L 5L
- 5ZmlL 452 mL
TCHSmL

248 mL

g. 6km 802m=-2km 569m

h. SL920mL-3L 869mL
mlm = 5T,
~54qm _‘ﬁamL
tHom 233 Beim
2L 51imL

17} SQYMON | toenss

i

engage’ s
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2. David s from Los Angles 0 Sam Fancisc, The ot distance i 617 Klometers. Ho has 68
iometer it 0 drive, How many Klometershas e drven s fr?
61 Tkm 5017
T 1%
52
7 T
Uk David has driven 119 km sofar.

3. The piano weighs 289 kilograms more than the plan bench. How much does the bench welgh?

21k9
P -289= 8k
297-289 9

7
)

The bench weighs gkg.

4. Tank & holds 165 fewer itrs of waterthan Tank 8. Tank B hods 400 ersof water. How much wter
does Tank A hold?
q
3w lo
Tonk At T Jigipers 53

-165

Tank B ¢ [ udotiters 235

Tank A holds 235 liters.

CORE

11 SQymoN ::. e L

s
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1.

a. Find the actual differences either on paper or using mental math. Round each total and part to the
nearest hundred and find the estimated differences.

A B
448 - 153 =_295 747 - 261 = 430
Hoo - 200 =_200 00- 300 =Hoo
451 - 153 = 2R 756 - 261 = 495
5oo-zo(>= 200 - 500=
N—}—
448 - 149 = 299 747 - 249 = 4938
= = oo - =
400 - 100 Teo - _2ap= (SO)
451 - 149 = 302 756 - 248 =_50%
500 - 100 =_400 800 - 200 =_600
Circle the estimated Circle the estimated
differences that are the closest differences that are the closest
to the actual differences. to the actual differences.

b. Look at the differences that gave the most precise estimates. Explain below what they have in
common. You might use a number line to support your explanation.

T the differences fhat ﬁéxvc the most precice ectmates
both numbers cither rounded down o both numbers punded “up-
Sv it's different Lor subdvachon than for additon.
> when the numbers ound the came way the
t= chetance is Staying about +e same. When we
= yound n opposite of?rechms +he chstance ﬂ€+5
el oither much ls\nﬂcr or shorter |

451

Lesson #: Lesson Name EXACTLY Lesson Component Template

Date: 6/24/13 eng a_g eny X.X.1
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‘Camden uses a total of 372 lters of gas in 2 months. He uses 134 litrs of gas in the irst month, How
many iters of gas does he use in the second month?

2. Estimatethe mount of g3s Camden uses nthe second morth by ounding esch a5 you tin best
3722400 Ypo-zo00=200
184% 200 Camden uses abowt 200 liters mcg:s in +he
Second mon

b, How many lters o gas does Camden actually use in the second month? Model the problem
tape diagram,

ha

312 liters 2%,
3% Camden acually uses 188 liters

T
184 of gas in dbe Second month
188

3. The welght of  pear, apple, and peach are shown to the.
ight. The pear and apple together weigh 372 grams. How
much does the peach weigh?

2. Estimate the weight o the peach by rounding each
number a5 you think best. Explain your choice.

3T72x310

500 = )ootso  The peach weighs about
’w/ o - 130 130 grams.
I decided o round 372 o the nearest Iogmmg

4 do mental m. 500 is already rounded 4o -the
0 o weatal it hearest den %

b How mich does the peach actuslly weigh? Model the problem with a tape diagram.

£ocg e

556

e -312
1zs

The Feads Wuﬂhs lZSjmms_

COMMON [ tesmt  Gstecssnrin s ot ot Y e
I GG o engage'
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1. Weigh the bags of beans and rice on the scale. Then write the weight on the scales below.

a. Estimate, then find the total weight of the beans and rice.

Estimate: mq + 58q ~ qu e 60q & '50q
4 J 7 v =4

Actual: qlq + 5gq= l"f’qq
7 J J

b. Estimate, then find the difference between the weight of the beans and rice.

Estimate: il}jx%zjl}&%t_a%
o Ay sty 23

c. Areyour answers reasonable? Explain why.

My answers are reasonable becquse 1509 is only
| more 4han I‘Hj and 303 is only 3 less +han

339.

| RS engage"
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2. Measure the lengths of the 3 pieces of yarn.

a. Estimate, then find the total length of Yarn A and Yarn C. Yarn A G 4 cm = 60 cm
ESF\"\(Y\O“'C  GOcm + H4Oem =100cm Yarn B 33 m~_A0 cm
U +/23) =102 cm
/ Yarn C 2B _em=_UO _em
b2 (2 /1

The total lengthis 102 em.

b. Estimate, then subtract the length of Yarn B from the total length of Yarn A and Yarn C. Model the
problem with a tape diagram.

Eshmate 2 100cm =90 cm = I0cm 3:&-20-
g

Yarm & farn -3
a4
Yarn B Tagom 177 Hem | 4 em

The difference 15 4 cm.

3. Plot the capacity of the 3 containers on the number lines below. Then round to the nearest ten

milliliters.
Container D Container E Container F
A A
-T-220mL 240mL —1=200mL
235 mbL
—+2l5 mL 225 mL T 195 mL
T21Zm\—
—+2lomL 220mL =1 A0 mL
v v
212 mL =210mL 228 mL = 240mL 195 mL % 200 mL
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a. Estimate, then find the total amount of liquid in the 3 containers.

Ectimate : 210+ 240+ 200=650m L.

212

238 The +vtal amount of h'q,uraf

,_‘\_q\__é Is Y5 ml,

o5 mL

b. Estimate, then find the difference between the amount of water in Container D and Container E.
Model the problem with a tape diagram.

Estimate : 240-20 =230mL
Container E kit
Cordminer O Zaml]™F  “ZgmL
The differente is 26mL

4. Shane watches a movie in the theater that is 115 minutes Length in minutes
long, including the trailers. The chart to the right shows the
length in minutes of each trailer. Trailer 1 5 minutes
a. Find the total number of minutes for all 5 trailers. Trailer 2 4 minutes 1o
The +ohal minutes is ) minutes
e S * Trailer 3 3 minutes 3
Trailer 4 5 minutes %

Trailer 5 4 minutes

b. Estimate to find the length of the movie without trailers. Then
find the actual I.ength of the movie byFalcuIatlng t.he difference Total: g l mmuk C
between 115 minutes and the total minutes of trailers.

g -321 & 120-20 = [oOmin,
W5-21 = qy min, )
The lwg-lh of the movie is Wminures,

c. Isyouranswer reasonable? Explain why.

Yes, it is reasonable because G4 min is cloge 4v 100min
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